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Total No. of Questions ; 100 + 30 + 8 = 138 Total No. of Printed Pages @ 32
(guy ;382 15 fHq2) (YuTsh : 100)
| Time © 3 Hours 15 Minutes | | Full Marks @ 100}
getenferal & ford AR - Instructions for the candidates :

7 gyigTel OMR 3IA¥ WAF UYY AHYAT 1. Candidate must enter his / her
7o gﬁaaa mHiE (10 3@ @) Question Booklet Serial No.
HTIT fored | (10 Digits) in the OMR Answer’

Sheet,
2. el FUaYd 35+ Il H & 2. Candidates are required to give their
I/

answers in their cwn words as far
as practicable.

3 e av elfrd W B9 §T 3% QUIF 3. Figures in the right hand margin

Hfee #vd &1 indicate full marks.
4. 53;55‘ ‘_ﬁ Eﬂqﬁ'a%ﬁ g1 @ [0 4. 15 minutes of extra time have b€l
I @i 15 e @1 HlaRs G allotted for the candidates to read
T T 81 the guestions carefully-
5. ?i'gi??:f 5’7?35’»7 g Eve 4 F—@WUE-H 5 This question pooklet is divided into
7q G-/ two sections — Section-A and
Section-B.
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frore are 100 ohjective

¥ 6. In Section-A, ! .
{ cach carrying

(-)‘ ' ' s - .
‘5;? 100 awghrg wer 8,

o 50 gyt &1 37 3T lype (questions . o

1 mark) oul of whien any

fard - i
¢ (grdd; W Jor 50 quest' s arc to be answered.
will be evaluated

ﬁ{wfﬁﬁ 3).1’ THH i sife il & First 50 answers
I &7 W HYH 50 IRl @l &l by the compuler in cdse more than
JEEFZ?T'EBT{ HEFT ERT fepgr QAT qel 50 guestions are answered. Darken
397 &1 39 Fd 1 OMR ST the circle with blue / black ball
g 4 23 7 &t aoy @1 e / pen against the correct optiont on
FTe qioT d7 @ W — 7%:"‘?? o OMR Answer sheet prouid,ed to you.
o Y, ?1'???‘173'7?}/ s Do not use whitener / liquid /
: blade / nail etc. on OMR-sheet,
/TG sty @ W’Qﬁw 7 otherwise the result will be
gahT @A wAT 8, el qeielr invalid. https:.r'..-"v\mrw.bscbstudy.cmn
: g =T g

there are 30 short

7 @ug-& 4 30 79 g gyr & 7. In Section-B,
(each

: (g & oo 2 3 eI &), frd answer type gquestions
e ﬁﬁ? 15 wvF @1 IV a7 carrying 2 marks), out of which any
afrars g\! T i, T GUE o 15 questions are to be answered.
g 2 3 Wqﬁ'ﬁﬂ?ﬁ'?(mé‘{ i}:c:; ff‘()mt this, there are 8 long

7?7/(7 s o ) ﬁ‘) PR ﬁ,ﬁ;’-} .er ype questions | (each

i &), carrying 5 marks), out of which any

. 4 7ot &T 377 a1 &1 4 questions are to be answered.

r

8. fHal FEN @& j
5@;?3’%5 IYHIUT T 8. Use of any electronic appliances is
HAr] ‘ja?iizﬂ o strictly prohibited.
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=WUg - 3 / SECTION - A
TS WA / Objective Type Questions
oI HET 1#100aﬁ$m%wwﬁmﬁvwé‘ﬁﬁﬁ#wqﬁhw
som?f%swr%fmﬁmgﬁww?ﬁmaﬁ omsﬁe.'w{%r@#a’ari;oxlgso

1 ] [ BCL An.swer a
ur options, out of which only one is corT ny

Question Nos. 1 to 100 have fo
50x1=50

s. You have to mark your selected option on the OMR-Sheet.

50 question
1. aﬁ'A;[? ﬂ,s:[lsf’ ?},ﬁﬁz‘l:B,?ﬁuﬁm%

a) 1 B -1

c) 4 p) T A wE

If A =Lr45a ?J, B = [15? {ﬂ , when A = B, then the value of ais

(a1 By -1
c 4 (D)  none of these
2. tan™'1=
o 7 ® 3
\J@/ T O Z
3. cos[sec"1x+cosec_1x}:
A 1 B) -1
1
(C) O (D A
%
4 cos —sin@|_
) sin0 eosO |~

() cos20 LB 1
€) o0 o -1
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- I cos 2x dx

(8in x + cos x)?
@) loglsinx+cosX)*E

(A) 2log(sinx +cos X) +C

1
(C) log(sinx— cos x) +¢ (D) - W"‘ ¢
6. tan'ﬁ—cot”(ﬂﬁh
(A) 7 (B) 0
_x (D) .3
1 11
7. aﬁfa=[l 1 1]?1% AZ=
111
@A) 24 (B 3A
c) 274 o) T A3 7N
111 .
If A=(1 1 1}, then A=
1 11
(A) 24 B) 3A
(C) 27A (D) none of these
- =
8. a.a=
(a) O \/me
- 5 ' - -
(C) la] (D) |al

9. % |aj=2 3R Ao Tk TS ARw @, @ A FAA R

(B)

1
2 |
D) T H HE W

[121/327 ] J [(A)-9003-Ju0) |  Page 4of 32 -




-
If |a|=2 and

(A) 1
(cy 2

10. x_z"+y:;+z;c’ T T &
(A) ;-:2+_y2+z2

(C) Jx+y+z

- —3 —

The modulus of x 1 +y j+zkis

A)  x2+y+ z2

© Jiivrz

da 2,
11. dx (tanx“)=

(A) sec x?

(€) 2x2 sec? x?

12. i(m):

dx

1
l/m)/' 2Jcot x

—cosec’x

(C)
24Jcotx

—p
% a isa unit vector then A ha

s the valuc

1
® 3
(D) none of these
\/LB( . sz + y2 + 22
1
D) =% 3
X2 + y2 + 22

‘fxz + y2 + z°

I S—
2

x2+y2+z

BT
AD)

!
\,(E’)/ 2xsec? x*

sSecC x2

(D) o

B) Jcosec’x

cosec’x

D
o 2Jcot x

(A)-9003-Ji40)
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13. d , . .
-&}"{Sm 1[3x-4x3|}; .............. e F

(A) 1 (B)
1-x?
(C) 3 )
I—JC2
14, i[sx'r'llmfr;}:
dx "
B LQSJ‘
(A) cosVx ! N
—_— t“"“J’?\_
() :/l:.cosv'r; CUNEV
X
15. a%[Ztan_lxl=
y (B) -2
A = 2
‘ I I-*X" 1+,'t
1
1 1 (D) ‘1' )
fo 2“.*.1_2] ‘2 (l—'xrl
_c.f._'r Iim xn'an"‘=
16, Gef<oa x-a [
(A) nan—l {B) 1
) 0 Dy n
d ' . -1 - -1 =
17. dx,sm X +COS ﬁ—}
= B 0
(A) 3 (B)
(CY D Vx5
18 f.ﬁi‘i..:
x -1
(A) log|x-1]+k B) -logll+x|+k
\ﬂ log|x-1/+k D) logx+k
{A)-9003-~Js0) Page 6 of 32
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3 N
ﬂi{) +0y=sinx & ife ¢

3
2
d y] +2(
dx

1o, e HiE! { =
dx
(B) 4
(A) 3 o
) F EEE el
(C) 2
3 3 .
i i dzy [.d—!i} +9y= sin x 1S
The order of the differential equation {gx—?-] +2 3
e
(A) 3
(C) 2 (D) none of these€
4
20 xa} = I dx:
x< +1
x> I
(A) X _+2x+k (B) —3--2x+ |
< |/LD‘)/ £ ik
(C) 3 +x+k S
21 FEFeT GHIHT xdy +ydx =0 & & &
2
2 2 9

(C) xy=k

Solution of the differential equation xdy+ydx =0 1is

2 2
L
(A) 5 + 5 k
(C) xy=k (D) none of these
Page 7 of 32
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e e — oy s oo

e e e e

22. owHe gl ydx - xdy _o o1& €
2
y

(A) % - k B) _!_;52. =k
© =k (D) i @
Yy
Solution of the differential equation E‘.if_——-fy-.—_o is
A L=k (B) j%=k
€ ==k (D) noneof these
¥
23, 3yahel FHIHTT %+Py=o 7 FETEE O €
@ ¥ ['B] Jpay
eIQdy

\152/ 7 (D)

Integrating factor of the differential equation %%+ Py=0Q 1s
w o B 7Y
) ejpdx - D) ejody
- > -
0 B) 1
-
C) -1 D) j

[ 121/327 ] J |(A)-9003-Jwo) Page 8 of 32




és. ;;; ;l=
- = (B) [y x z|
A 1z y xl
—_ - = i ;]
(C) [x z Y] 'J'D)/ |z x
26. ai";(e"al =
Vw\/ e’ B 3x%e”
3
(©) 3x2eX D) 3x°e”
d Xy —
27 d—x—ﬂog?; )=
1 (B) log3
SJC
or~ og3 @) 1
28. i(——l—- + exJ =
: dx \ sinx
1 x (B) cosecx +e”*
(A) - te€
sin® x
(C)  -cosecxcotx +e” (D)  cosecx.cotx+e*
-+ 2> =
29, kx(ixj)=
n 2
Vo B) i
- -
C J (D) k
121/327 |} J [(A)-9003-J¢0) | ,Page 9 of.32



30. log 2dx = .
I (B) log?
(A) x+ Kk ) X2 log 2t k
(C) xlog2 + k
seCc X - Lk
31 Isec?:tunxdx 8 tanx__secx
(A) tanx+secx+k D) canx* K
(C) secx+k
1-cos2X 08 2X
32. Il+:os.2k x B) tanx'x+k
, k _
(A) tanx+ X+ %,k
(D] tan
(C) x—tan2 x+k
2
33. cot” xdx= 2k
I (B)  cot x cOS€C x
(A) cotx—x+Kk _—
tx-x+k (D) x +C0
(C) —colx —
3
dx =
34. Gx X
B 9
a3
9
© 3 D) 3
3s. jgug2 +1)dx=
0
14
8 B) 14
@ 3 ( 3
1
€ 3 D 3
Page 10 of 32
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2
36. I{:/ cosxdx=

(A) O

(€)

37. E}_ﬁ,

(A)

(€

-1 -

dx

log2

2log2

2
38. I:/ logcot6.d0=

(A)

(€)

-Q?ElogQ

2nlog2

2
39. Iﬂfzjcosx1dx=

w/

(c) O

40. f.“m

0 cOoSs

cosb©

(A) 2

do=

0+sind

(B)

(D)

(B)

(B)

(D)

(B)
(D)

n

2
~log2
- 2log2
T
41(:1g2
0

1

4

T

2

I

4
e+l
1-e

[121/327]J
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42 Ed; xIlTUCOSSx}:
(B) 1
(A) - sin3x
oy O
(C) - 3sin3x .
43. .&d;[,f;]:
1
7 ® V%
(A) Tx | |
| 2 .3/2
VQ’/ - (D) 3
‘ 2Jx
44. cos_l(Qx)+Sin'1[2x}=. ............... 2x e|-1, 1]
: 4
2 ® 3
(A) )
0
(c) = (D)
45. Sin-lf-—xj =
. =1
(A) I _sin™!x (B) sin "~ X
L S |
(C) —sin"lx (D), = +sin X
46. cot™! 1o ,(x>0)
X
-11
(A) ~cot™lx (B) tan P
-1
€ tan "X (D)  cot™ x
10 2|_
¥ / 35 7)-
- -
r\i"‘( 140 (B 70
© 3 © o

[121/327]J
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a8 [é ?J+[? [1,] =
w  [3 9] o (3 3]
o [33] P K )
49. a";(sxh
(a) 5" B x5
5% x
(C) Togs (D) 5% .10g, 5

(cy O D) 1
x+1 W m2
51 afe w2l @°=1 T | © x+w? 1 —o@l x=
»? 1 X+
(A) O (B
© o D) T | S W
x+1 ® 02
If o1, wl=land| ® X+ ®2 1 |=0 thenx=
®? 1 X+
(A) 0 (B) )
2 .
€ o (D)  none of these

[121/327 ] J [(A.9003.Ju | Pege 13 ofd8




52. gfe A___[cosu —sinuJ S icd A.;A':;_l‘?f'{ T

sina CcOS

(A) n

N 3
© 3

If A:[c"” ‘Si““} and A +A'=I,, then &=

(A)

(C)

sin cosa

i

3r
2

Fid

® 3
n

(D) Y
® 3
D &

53 AU o O & A A + A 3T &M

(A)

(C)

repeiears I 3 (S

TFE IR

(B) Wﬂq‘&‘ﬂ 3 E

o) ¥ IR

A is a square matrix, then A + A' is necessarily

(C)

a symmetric matrix

a unit matrix

(B) askew symmetric matrix

\/LD‘T a zero matrix

54. AR A=H‘ ‘1}] B=B 0} R A2=B,d r=

(A -

) 4

_|A
A’

A -1
© 4

1

1

B) 1

D) T § HE T

?]. B‘—'B (1)] and A = B, then A=

(B) 1

(D) none of these

[121/327]J

(A)-9003-J(40)
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ss. 4fg A:[(IJ ?],Fﬁ

(A) A 1 o1 aifEaea @ B 1Al1=0
(C) PRESE LR (D) i @ w1 T
If A:[:cl) ?],then

A~ A lexists ®) |Al=0

(c) A ! doesnot exist (D)  None of these

56. meaﬁwﬁéaﬁﬂﬁm%

(a) 1
() 3 (D) A

The number of unit vector(s) perpendicular to a plane is

(A) 1 (B) 2

(C) 3 \}Dr infinite

57. =21-j+2
N _ - -
A) a.b=5 B) a.b=-5
- - .
C a.b=0 D) T ¥ HE TR
- oS = = - - = - :
Ifa=2i-j+2k and b=-1i+ j-k,then
r— - -
Al a.b=5 B) a.b=-5
- -
(C) a.b=0 (D) none of these

121/327 | J |(A)-9003-Juo) | -Page 15 of 32




(C) a
59. 1 x k=
(A) 1
e
\}Q/J
—_
60. axb=
—_ =
wy’ bra
- =
(C) a.b
2
61l. cos_]—l—_-'—x—g-" .............
1+ x

(A) sin‘1(4x3 - 3x)

(C) sin”'(3x- 4x3)

63. tan_l(-‘}—gljz
Az

o -3

(B) sin~1(3x + 4x°)

D) sin~}(3x° - 4x)

(B)

oA

R
(D) "‘6

-

Page 16 of 32



: - -1
sin(sec l v tcosec” x) =

64.
A 5 B O
c) -1 oy 1
65. Qtan"%—+tan“]~_},—=
A 5 (B) ™
© 7 D)  2n
1 2 4|
66 wrfore |3 7 o FAAE
4 8 16
(A) 23 B) O
) 1 (D) = | Fg TR
1 2 4
The value of the determinant |3 7 9|is
4 8 16
(A) 23 By 0
(C) 1 | (D) None of these
1 a b+c
67. WX |1 b c+a| FAAE
1 ¢ a+b
(A) (l1+a+b+c) (B) (a+b+c)
Cc 1 (D) O
1 a b+c
The value of the determinant |1 b c+alis
{1 ¢ a+b
(A) (1+a+b+c) (B) (a+b+c)
c 1 D) ©
Page 17 01’_32'
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©8.  wrfores 177 }sl; ég &1 OF &
29 31 37
(A} -36 | B 30
© 20 oy T & F T
7 11 13
The valuc of the determinant |17 19 23] 1s
29 31 37
(A) -36 B) 36
c) 20 (D)  none of these
eo. R a=[_} T} 4=
(A) 34 (B) 4A
gel 24 o FHEH FE A
If A=[_i ‘ﬂ then A3 =
(a) 34 B) 4A
(C) 2A (D) none of these
a h g
70. & |h b f 3
g f ¢
Ay foum gafaa aege B) EHHA AT
(C) TP HTE D) T q HE
a h g
Matrix | h b f | 1is
g f c
A sk : : - :
(A) ew symmetric matrix \jfﬂ/' symmetric matrix
(C uni i
) nit matrix (D) none of these

[ 121/327 ]|J [1)-9003-J¢0) | Page 18 0f 32




71,
(A) ! (83) ]
2Jx =

© 3 o %

72. dd _(sin2x) =

2

(A) 4 sin 2x (B) 4 cos? 2x
(C) 4sin2x (D) 2s8iné4x

73. %(ex—(i) —
(A) e 4 (B) (x - a)e* @
(C) e” (D) —e*

. 3

74. E_%{«x.d } =
dx
a)  4x° B) 12x°
(C)  24x (D) 24

75. ac_i;[ x2+ax+lj ="
(A} x+a R \}B( 2x +a -

2\[;2+ax+1 24x2+ax+1
©) 2x+a (D) 1
. J;Q+ax+1 2J‘x2+ax'+1
d 2x
76. _ =
In (2e“")
. (A) 232x {B] e2x
\.Irel/ 4e2* D) 2e”
Page 19 of 32 .

121/327)J [(A)9003-Juo



7 d
?. El_)?‘{lugx“ )=
\}m” 1
x?l

(€)

(B) n

1 o
* 2
A g Wmﬁﬁ% 2

(1,2,3} 3 f={[a,1},[b,2],{c,2]

78. afg A=la,b,c},B= aﬁ[
afa:
@A) T staad B T
eCad B RED
(C) 39 AT (D) e .
then wna a
If A=ta,b.c},B={1,2,3} and f={{a,1),{b,2},{c,2”
function is /7 o
—one 1
(A) onc-onc into (B) many-on
- onto
maryy-one onto {D} one-oneé
2 BT ?

79, g% f:R >R, @I Fl=3x-4,a [

(B) %(xﬂfﬂ

apqTeTed

(A)  3(x+4)

(C) 3x -4 (D)
- | ing is £ (%) ?
If £:R — Rsuch that f(x)=3x-4, then which of the following

A F(x+4) ® (x4

JQ/, 3x -4 (D) . undefined

80. ::cssrl:c*1 (- x)=

(A) T _ cosec”lx (B) 1 - cosec x

: (D) — cosec ' x

(C)  cosec”'x

[ 121/327 ] J [(A)9003-Juo | Page 200f32



(A} 1 ® -]

c © (D) Fﬁﬁaﬁ%

(A) ! (B) -1
(C) o (D) None of these
82. 1. (FxK)= ]
N B 1
) -1 Dy 2

83. Ilogxdx=

(A) x'L*k (B) xlogx+k
(C) xlogx — x+k (D) - xlogx+x+k
A2
84. n =
(a) 0 : B 1
(C) -1 (D) n

35, wwi@rx,yaﬁtzamﬁmﬁwé;mm: a, B3 y T AR €, A
(A) cos?a+cos2p+cos’y+1=0 | B) sin?a+sin?p+sin?y=1

(C) cos? o +cos? ;3~r-ccm2 y=2 .(D) cos? o +cos? |3+c052 y=1

If a line makes angles a, pand y with the positive directions of x, y.and z axecs

- respectively, then
(A) 6052a+cos2§3+c0521+1=0 (B) sin2a+sm28+sin2 y=1

\ _
(C) cos a+cos? B+coszy= 2 (D) cosZ a+cos? B+ cos? y=1

(1217327 ] J [(A)0003Juw] Pege 21 of 32




86. R Q'@]a 2x 3y 7 3 ox 1y 4z & e @l a1 ¢

(B) 0

(A) 2
c o
O . 42i8
The angle between the straight lines ?x:Sy .- z and 6X :
A 5 ® O
7 D)
87. uﬁA,HaﬁICFﬁﬂwﬁamﬁ%‘i,Fﬁ
(A) pP(ABC)=P(A)+P(B)+P(C)
(B) P(ABC)=P(A)-P(B)-P(C)
(C) P(ABC)=P(A).P(B).P(C)
(D) ¥ & Wi el
If A, B and C are threc independent events then
(A) P(ABC)=P(A)+P(B)+P(C)
(B) P(ABC) = P(A)-P P(B)-P(C)
\)9?/ P(ABC)=P(A).P(B).P(C)
none of these
88. P(A}+P[A )=
(A O B) 1
=1 (D)  P(S)
89. 1-P(A'NB)=
Ay PlANs Vtm/ P(AUB)
(€ PA) (D)  P(B)

[121/327 | J |(A)-9003-J0) | Page 22 of 32



Z - 3x + ay 1 ek A

STeT foh =gai x+y <4

Q0

xz0,y =20
2
(A) O By 12
(C) 16 (D) m@ﬁqﬁ
The maximum value of Z = 3x+4y
subject to constrair;ts x+y<4
x20,y20
is
(A) 0 \151/ 12
(C) 16 (D)  none of these
1. m:mﬁmﬁwwwwm%
x Y. z_ x Y,Z_
(A) a+b+c_0 (B) St h T
(C) g——%——?:o D) T @ T

ation of the plane in intercept form is

Standard equ
W Z+diZ-o B E+Z+Ze
(C) aﬁ-%-gm (D)  none of these
2. e fag @ fag (-3,-4,-5) G ®
(A) 6 B) 5v2
D) T | T

(C) S50

Page 23 of 32
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* -

The distance of the point (-3, -4,

(A) 6 ) 52
(C) so (D) one of these
93. (-4.-3,7) %M (-1,1,-5]) ¥ s F g
(A 12 B 13
() 14 (D) gqﬁgam:reﬂ
-3,7)and (-1, 1,-5)is

The distance between ( -4,

A 12 - ‘)3/13

(C) 14 (D) - none€ of these

g4, a4 R B < A, A p(%]+p[%)=

(A) 0 (B) 1

(c) -1 (D)

If A and B be two events then P[ﬁ]-kP(-‘%—):

B
(A) O &/ )
© -1 (Dj . none of these
95. Eci-(sin 2x)=
(A)  cos2x | (B) cos2x
: 2

C - - ‘
(C)  2sin2x D)  2cos2x

[121/327 )4 (A)-9003-J(0) |  Page 24 of 32




d ... _
96. Ix (tan kx)

(A) scc? kx
2
sec” kx
! (C) T

97. I{x+2]dx=

(A) (x +2)° +k

2
‘)Q/%+2x+k

98. .'.]3 dx =

Ay 4

et s

2
99. Io“/ cos xdx =

(A 1

(C) 0

100. Isinx.cosxdxz

(A) ~%ﬁn2x+k

(C}_ sin xfk

(B) k sec2 X

(D) ksec” kx

B)

+ Kk

(D) log(x + 2)+ k

B) 2
1

(D) ‘5

B) -1

D) 2

(B) Si‘2“‘+k

2
(D) COS2 X +k

121/327 | J |(A)-9003-Jio)
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@vs - & / BECTION - P
tions®

.
erg IALra I/ Short Answer TYP® Qﬂ" N 1 N &n’
vy .wzﬁsawwmﬁ‘w#:gﬁ#ﬁm‘fmﬂ?ﬁ’ ¥ 12y
. o tions- Lach quesg

f , swer
Question Nos. 1 to 30 are Short Answer Type. AnS

carres 2 marks.
1 1

1. Ak A=| x y |, A A S I
x? y2

1 1 ,
f A=l x y |, thenfind AA".
x;’ 2

Y A W
2. f @ x I TF T BT
2x-y S}_(6 S
3 Yy -3 -2)-
Find the value of x from the following :
2x-y 5)_(6 5
3 y) 3 -2
16 9 7 . *
3. arfre [23 16 7 | @1 A @ L
32 19 13
16 9 7
Evaluate the determinant (23 16 7 |.
32 19 13

dy :
4. dx T, T8 x=acos?0, y.=asin20.

.. dy
Find M when x=acos?0, y=asin’0.
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o x2+y?=3 & &3 [1,ﬁ}WWﬁ3ﬂﬁ‘

2 2 _
curve x° +Y =3.

Find the slope at the point (1,¥2) of the

a-b b-¢c c-a . o
6. WRIU |[b—c c¢—-a a-b =7 | T |
c-g a-b b-c¢
a-b b-c c—-¢@&
Evaluate the determinant |[b-¢ ¢—d a-bl.
c—a a-b b-¢C
L n 2 2
7. o lim 3L
n—sod n

Evaluate

8. rﬂ&?&ﬁ?ﬁ'ﬂ’ay:sinx%ﬁﬁﬂx=oﬁx=ﬂﬁ%mﬂmwl

Find the area between the x-axis and the curve y = sinXx, from x= 0 tc_: X= 1.

9. 867 F1 : tanydx+tanxdy=0.
Solve : tanydx+tanxdy=0.

10, @91 BEH fiR - R onto & SE f(x)=2x > &1 |

Is the function f:R — R onto function where f(x)=2x ? Give reasons.

11 fag # R sin! L —tan™! X
Vx+a a

Prove that sin_l———‘/i-»:tan"1 J—E )
vx+a a

m
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2 2Xx
] a1=x|=m5 72
2 1-%

1+ X

12, =5 P
2 &T@ * fo l::m(isin_l —'25_2' J_ECOS
2 1+ x

Prove that lem[—ésin“'%{;—j+—-cus" Te % ﬁa%“
a{ .
) T T n
15 fag @t fe afe (s, - 4.2) A2 3}2 Ty e perp®
Show that the vectors [ 9, ~ 4, 2) and (
another. R R 4'_?
: e 2 _ai +4J"
14 o b Fel, S 2 _p7-3k, b=3!
. . .
» - ~* -r frd _ -* + 4‘} .
Find a x b whcrca—-21f3k, b =31 .
> A b
Y a
s AR a =(23,-5) 3R b ={2’,2,2l'?ﬁﬂj':‘:QT
e
7 -(2,2.2), then find the angl

—
a and b.
16, goT @ y(l+xy)dx—-xdy=0.
Solve : y[l+xy}dx—x1dy=0.

17. BA B : +1 e*ty .

Solve : £i—B—'-H:e ¥,
dx

. . -
18. Fa:sfﬂ_%(E’JrgJ.(Z-bJ:a?-b?.
- 5 o = 2 2
Prove that (a+b).(a-b)=a -b“.

19 GHHH Icoszxdx.

Integrate IC(}SQ x dx.

20. dx I fred, i y =sin{log x}.

. dy .
Find I when y =sin(log x).

: _
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g @i . ady o ydx xy.dy.
50 3T 6o° W FT

xdy o ydx o xy.dy.
fagn & WM IR 4
2

o IR 2
ysitwve direction of the

Solve
FE wTe Tl x SN -l sl U

22.
TR X | UE 2. 3181 ) WA &R & @™ e )
and 60° with the pe
ike with the posiuve direction of

A straight line makes angles of 45°
What angle docs it ma

x and y-axes respectively.

 op sten@Ug FERE 3, 4 £ 104

the z-axis ?
2

ﬁﬁwaﬁwamaﬁfﬁqfsﬂﬁx,yaﬂizﬂ@
5%
¢ whosc intercepts on the axcs of x,
respectively 3,4 and - 5.
24, 3R Pm;_§ P(B)- T PlAﬂBl-~ al P[ )r—nm P(#) 3

P{B)‘—and P(AﬂB}-— then find P(-—) and PL——)

23.
y and z arc

Find the equation of the plan
2

If P
(A)= 8
11 12

25. fag &l f® 46 20 26|=0.
65 45 20
23 11 12

Prove that |46 20 26 =0.
65 45 20

% ﬁ&:‘“lﬁ e y=JsinJ}-.

26.
Find g—% when y:‘lsins/;.
. . .2
27. Y freprel o y=S0 X
dx Jecosx
si112x

.., dy
Find ==, when y= .
dx Jcosx

S
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28. GRS &Y Imdx’-

Integrate J 1—-sin2x dx.

29. jﬂ*(_liﬁi‘_’ dx a1 T @ A

0 X

Find the value DI—J.

30. fag #f® J.Oﬂf

a/f
Prove that J-O

it 3909 999 / Long An

we Wwar 31 ¥ 38 A SWdE WA
5 3 frgifea &)

Question Nos. 31 to 38 are Long Answer Type questions. Ans

question carries 5 marks.

31. IR tan!x+tan'y+tan” z_— ﬁiﬁqﬁﬁ% yz+2zx+ Xy = 1.

I -1

If tan™ " x+tan” y+tan 2—2

_ ' (b+c)2 a’?
32. HES FFE | b2 (c+a

c? c?

(b+c)? a? a
(c+ a]2 b2
(a+ b)2

Factorize b2

02 c2

‘E‘l‘i!_"_g_)f—] dx .
2
logtanxdx =0.

2lcﬁgtan xdx =0.

ﬁ‘|3ﬁﬁﬂ’ﬁﬁ"ﬁ4m

then prove that yz+zx+xy=1.

2

swer Type Questians
3 e $1 RE F T

4x5=20

wer any 4 questions. Each

4 x5=20

5
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-
e
o]
0
-0
oo
e
R

33. fog #ifu fe (aByl=p-1a-' =@ f® A={

_ _ 11 1 2 5 3
Prove that (AB)™' =B~'a~! , where a=|1 2 3|.B=|3 1 3|
119 1 21

dy :
34. a;-ﬁmﬁﬁ,aa XY eyX=1.

. dy
Find — y X =1,
dx when x¥Y +y” =1
35. Inw&ﬁﬁiaﬁ'jtanqxdx.
I 4
ntegrate Itan xdx .

36. g1 e (x? —yzl—%g-:Qxy.

d
.2 2 8Y _ o
Solve : (x“ - Y ]d Xy .

ﬁﬁ 3x+4y—-sz=2 %ma%ﬁ(& 1’!-‘4)ﬁ
espect to the plane

37 T T TS |

Find the image of the point (3,1,-4)withrt

38. W@Wﬁ:

Adfh x + 2y <120

x+y 260
x-2y=0

x,y20.

\
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. - 0
Maximize and minimize £ =5X" 10y

<120
subject to x+2Y

x.+y?60
x-2yz0

x,y?_o‘

ﬁ
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